Example 1 
This example deals with the position when an amount of ACT carried back to an AP displaces another available relief, without resulting in a repayment from the COTAX record.

APE 31/03/95

	Date of event


	Event


	Consequence



	31/03/96


	Return


	Profits

(Tax 25%)

IT set off

Payable


	20,000

5,000

5,000

NIL



	30/11/97


	Claim to carry back ACT from APE 31/03/97


	
	5,000



	30/11/97


	Claim to repayment


	
	

	01/02/98


	Repayment of IT


	
	5,000




Legal Consequences

S87A TMA 1970

No liability.

There is no charge to late payment interest on the CT liability, which was covered by Income Tax and is now covered by ACT carried back.  If the carry-back claim had not been made there would still have been no CT liability.

S826(7A) ICTA 1988

Due on 5,000 from 01/01/98 (the due date of the AP from which the ACT is carried back) to 01/02/98 (the date of repayment).

Procedure

· If no assessment has been made when the company makes the claim to carry back ACT you can allow the ACT by making the assessment using Function PAST (Prepare Full Assessment).

If the assessment has been made you can allow the ACT by amending the assessment using Function PAST.

Note:  Whether you make or amend the assessment you must amend the EDP of the carry-back.  The computer will calculate the EDP of the ACT posting as 01/01/98 (the due date of the AP from which the ACT is carried back) and charge Section 87A interest from 01/10/97 to 01/01/98.

The computer sees the ACT posting as a payment made on 01/01/1998 against a liability of £5000 due on 01/01/1996.  The correct EDP to enter on screen COT120M in Function PAST is 01/01/96 (the date on which the displaced IT set-off is effective for interest purposes).

The repayment is of Income Tax, and so must be handled manually, together with the related repayment interest.

